Network Equipment Racks & Accessories

Small Server Boot

19" Panel Mount

Limits access to a 1U, 2U, or 4U server
Designed for shallow equipment that does not extend
in front of the rack
Suitable for DVR applications and switches
Fully enclosed top, bottom, and sides
All front server attachment hardware is enclosed
inside server hoot
Slotted hole pattern on door
Keys are keyed alike
Mounting hardware not included
Part number includes:
One (1) server boot enclosure with lock
Two (2) keys
Finish: Flat Black Powder Goat

Part Rack Rack Space Available Total Rack ‘Weight
Number Width For Equipment Space Used
In. (mm) Lbs. (kg)
SBSBO01FB 19”7 (482) 1U 2U 3.86 | (1.75)
SBSBO02FB 19” (482) 2U 3U 4.47 | (2.03)
SBSBO04FB 19”7 (482) 4U 5U 5.66 | (2.57)

=
o m
x—i
a2
E°§
?gl
M e
4]
o=
=2 I
m
m—'

Comm Data

COOPERB-Line



Network Equipment Racks & Accessories

Large Server Boot
19" Panel Mount

o o
b o o

m Limits access to a 5U or 20U server. .

m Deep enclosure extends out in front of the rack for
patching and gear.

Fully enclosed top, bottom, and sides.

All front server attachment hardware is enclosed
inside server boot.

Diamond hole pattern on door.
Keys are keyed alike.
Also suitable for switches.
Part number includes:
One (1) server boot enclosure with lock
Two (2) keys
#12-24 x 5/8” combo pan head mounting screws
Four (4) on 5U server and Six (6) on 20U server
m Finish: Flat Black Powder Coat

=
==
=
a LR
£ g
3o
w <
§<
i
=
w Q
=2
o

N,

Part Rack Rack Space Available Total Rack ‘Weight
Number Width For Equipment Space Used
In. (mm) Lbs. (kg)
SBSBOO05FB 19” (482) 5U 7U 9.25 | (4.19
SBSBO20FB 19” (482) 20U 21U 29.40 | (13.33)

Comm Data



Network Equipment Racks & Accessories

Server Boot With Extension Rails
19" Panel Mount

m Use to mount patch panels to wall.
m Hinged design allows easy access.

Limits access to a 4U or 6U server
Fully enclosed top, bottom, and sides
All front server attachment hardware is enclosed
inside server hoot
Diamond hole pattern on door
Keys are keyed alike
Also suitable for switches
Includes extension rails for backs of sliding servers
Part number includes:
One (1) server boot enclosure with lock
Two (2) keys
Four (4) #12-24 x 5/8” combo pan head mounting screws
Two (2) extension rails
Finish: Flat Black Powder Coat

i

*
e
+

.l-’-l-"-l-’i- & -I-‘-I- -

s 1-:1- i

LALLM )
whhhhhhh e

Part Extension Rack Rack Space Available Total Rack ‘Weight
Number Length Width For Equipment Space Used
In. (mm) Lbs. (kg)
SBSBE0413FB 13” (330) 19” (482) 4U 5U 21.63 (9.81)
SBSBE0418FB 18” (457) 19” (482) 4U 5U 23.80 | (10.79)
SBSBE0613FB 13” (330) 19” (482) 6U 7U 2455 | (11.13)

Comm Data

=
=
=]
=
»
Qo
=
=]
]
m
»
&
=]
=
m
”

INJNCINDT XHOMLIIN

COOPERB-Line



Network Equipment Racks & Accessories

Patch Panel Protector
19" Panel Mount

m Limits access to 1U or 4U patch panels

Fully enclosed top and bottom

All front patch panel hardware is enclosed inside
patch panel

Diamond hole pattern on door

Keys are keyed alike

Openings on side for cable exit

Drop outs included to support cable bends

Part number includes:
One (1) patch panel protector enclosure with lock
Two (2) keys
Four (4) #12-24 x 5/8” combo pan head mounting screws
Two (2) plastic drop outs

m Finish: Flat Black Powder Coat

=
==
=
a LR
£ g
3o
w <
§<
i
=
w Q
=2
o

Part Rack Rack Space Available Total Rack ‘Weight
Number Width For Equipment Space Used
In. (mm) Lbs. (kg)
SBSPPO1FB 19” (482) 1U 3U 12.00 | (5.44)
SBSPP04FB 19” (482) 4U 6U 8.69 | (3.94)

Comm Data



Network Equipment Racks & Accessories

Rack Security Door
19" Panel Mount

m Provides security for 84” (2133mm) racks.
m Designed to be field installed on existing racks with no need to shut off equipment.
m  For use on two-post non-welded racks.

m Available with acrylic (SBRSD84XUPFB) or perforated (SBRSD84XVPFB) steel doors.
m Part number includes:

One (1) door assembly

Two (2) inner slides

Eight (8) #10-32 flange nuts

Eight (8) #10-32 carriage bolts

Two (2) keys

Keys are keyed alike

Inner slide allows for depth adjustment from 51/4” (133mm) to 91/4” (235mm).

Finish: Flat Black Powder Coat

=
o m
x—l
a2
E°§
?gl
M e
4]
o=
=2 I
ﬁ—u

Part Depth Adjustment ‘Weight
Number
In. (mm) Lbs. (kg)
SBRSD84XUPFB 51/4” - 91/4” (133.3 - 234.9) 34.02 (15.43)
SBRSD84XUVFB 51/4” - 91/4” (133.3 - 234.9) 29.85 (13.53)

Comm Data COOPERB-Line





